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54 110 2y 1 54 -110
-3 -l 66 | 3 11

(3 L fd IIO] {4} none of these

(74
5. The value of the determinant | cos o sin o 0
-Sln meosax | Is:
1] i |
{1-1 (23 O (31 {4) cos 2o

0. IT mals the cube root of unity then the value of | 1 @ o’
@ 1| willbe:

a1

(1) (Do +1 (310 {4y 1

T.H (1+3)" =Cy+ o+ Cpx’ + ..ot Cox", then Cyt € + 6+t
€, Isequal to: 1 3
[ |

{1y 2°~1 2y 2*-=1 ] e | 27— |
o+l n-1 n+1l n+l

B (1+X)"=0Cy+Cpx + Cia® + e Cx", then CyCyHCyCHCHCy +.0=Cy 1 CilIs
equal fo :
{1y _2In (2} 2n {3) 2n (4) none of these

n-=ln-—32 a.n n-2-nat 2

9. I the ratlo of the second and third term In the expnnsiun of (a+ by Is equal to the
ratio of third and fourth term in the expansion of {a + b }‘" then the value of o is
equal to :

6 i2)4 i3} 5 43

10. The number of different words that can be formed by using the letters of the
waord “MISSISIPL s :
(1) 5067 (2} 6705 {3) 1520 (42520

1L Ifa', b, ¢’ are in AP. then 1 | , 1 willbe:
bh+el c+a a+h

{1} mHP. {2)mG.P. (3) m AP, (4} in arithmetic geometrico progression
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11. A bag coutalns 5 white and 3 black balls. Two balls are drawn at random then
the probability that out of the two one ball Is red and other s black will be :
(y 15 2y 1 (3} 15 4)2

56 28 28 7

13. Two dice are thrown together then the probability that the sum of numbers
appearing on the dice Is 7 :
i 1L {2) L 3) 5 {4) none of these

6 12 36

14. The position vectors of the two polnts A and B are a and b respectively then the
position vector of the polnt C which divides AR In the ratlon 2 : 1 will be :
{1} Ltb {2) 2a+b (3} a+2b  (4)none of these

3 3 3
I5.If a+b = a-b ,then the angle between a and b will be :
{1 180° {2 90° 3 4p0°

16. The arca of the reglon bounded by the curve y = sin’ x , x-axls and the lines x =
bx=mlls

iy n (2} B (Hm= {4
4 Z
17. m2
sin_x dy-Is equal to :
0 i T sin 2y
() = (2)2x (3) x 4 n
4 2

18. xe' dxis equal to :

(I{x-1p"+C (2) (1 -xp*+C
(3l —xpe*+C {4} none of these

19. vsinx dxis equal to :

(13 | sin x*+C (2) - 1simnx*+C
3 3
{3) 1 cos v+ C {4 - l_ms.tJ +C
i 3
20, The max. value of sin x + cos x :
(it 2) 1 () V2 {4) none of these
N1

21. The angle between the curves v = x and v" =4x at origin will be :
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o e {3 m_ {4} none of these
3 4

211, If the volume of a balioon is increasing at the rate of 25 cm’/sec., then if the
radius of the ballogn 15 5 cm. then the rate of change of the surface are als
(1) 20 cm/sec. {2y 10 mitfsec. {3} 5 em. /sec. {4y 10 cm.sec.

13, The differential of coefficlent of x* Is 3

(15" loge x 2px" (1 +logex)  (3)x"( 1 -logex)  (4)none of these
M. _d (stnx )™ s equal to

dx

(1) (sinx)™="[1 - se::i'r. log sin x]

(2) (tan x} ™ * plog sec™x log sin x]

(3} (sin xJ*** [1+ sec” x log sin x]
{4} none of these

then _dy Is equal to :

dx
(1}=s 2y 0 (51 i43-1
26, II].'=sI.n"[ 2x |.then dy isequal to:
l+x dx
() - l (2}
I+x: | +x°
(3) B (4) 2x
S & 1%
27.1fx \‘H}' + ﬂi'-l-!: =0then _dv_ fs equal to :
dx
(1) 1 2y - 1
I +x [+ %
(3 _2 (4} none of these

{1+x)r

28. TI1|e continuous product of the roots of (-1 ]n”:II Is :
(1) o 2) w 30 431

29. The value of sin i X:

(1} log [x-\'ﬁ} (2} log [xﬂ'?—_[}
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13} log (x+x=1) {4)

30, The equation of a st-line passing through the point (1.2) and making equal
angles to with axes, will be :
i)xy-2=0 2y xt+y+l =0 3xy=1 d)x+y=1

31, If the vertices of a parallefogram are ((L0), (2.1}, (1.3) and (1.2) then the angle
between thelr diagonals will be:

(hx__ (1) 3 Gz 4z
4 2 2 3
31, The equation of line which Is parallel to the stralght lne 3x +4y - 7= 0 and
passing throogh (1,2) is :
(13x+4y=11 (2) IxHy+11=0 (3) 4x-3y+2=0 (4) Indy+7=0

33, The pole of the straight Hne 9x + y — 28 = 0 wir.t. the circle x* + y ¥ = 16 will be:

(1 E3 % (2) F i]
7 ¥ 2 &
4. 36 {4} Sh |
T 9

34. The equation of the tangent from origin fo the circle T :rl —2rx—2hy + h'=0
Is:

Hjl_hl—r:n +2thy =10
(2) y=0@

(N2 -0

4 (h—r)yx-2rhy=0

35, If a tangent at a point p to the parabola meets to the directrix at Q). IT'S Is the
focus of the parabola then £PS0) Is equal to :

(= () x_ 3 =z 4z
2 3 4
36, IT fiv) =log v, then fiy) + f{1/v) Is equal to :
(2 () 0 (3-1 4l
37. llm ie'—ln¥|l+1] Is equal to :
Tl
X
(h L @ L M3 42
2 3 2 3

The information provided here is only for refrence. It may wvary from the original.



Www.Cecrultment .guru

38, Ifa and f§ are the roots of the equation 1 ( 1+ o'+ n*}=9ﬂlen o+ ﬂ’} Is
equal to :

{1y 2n° (2)n’ {3)-n° 4) n°+2

39, The HM. between 1 and 1 will be :

1o
(17 @) 21 3 17 (4 32
2 17 32 17
40, If for two numbers G.ML Is 4 and AN, 15 5, then H.M. will be @
{n 25 (2y 17 (3 16 (4)y 5
15 g 5 l6

41 11 "°C, = "Cpo1 then °C, 15 equal to ;

(1}360 {(Z) 120 (3y 10 i4) 5
42. Thevalueof 1+ 1 + 1.3 + L3S +...ls:

4 4.8 12
(1) V32) @2 (3) 2 (4)372

(143" =C+Ox+ Ot +...+ Cox"then €+ 3C, + 3C; +...+

nCn Is equal to : C, C; L

Cui

(1) nin+1) (2) nle + 1) (3nin+1) (4) o1}
2 2 n! 2

44. In the expansion u’l: ¥ - H the term Independent of x Is :
X

(1) -32190  2) 114050 (3) 42240 (4) 330

458, The value of the determent | 4 -6 1

=1 -1 1 is:
-4 11 -1
(1) 8 2y -25 (3) 25 (4} none of these
4o, IF 1 2 4
otx 7 =0, then the valoe of x will be :
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5 I 4+x
i1 3 2y 0 3y 1 (4) nome of these
47.1IfA= |dy O O
0 d; 0| thenad] A=
00 d,

(3 |dzdz 0 0O
0 dydy 0O
1] 0 dyd

) d,dy 0,0
1] d=d,0
1] 0 d;d:

48. Ifa=| 1 4 and B=|1 2| , then4A 3B Isequal to:
o 3 o 5

(1) [l 2] {Eh[-j -m] H-;E=[5 m] :4;A=E'-' Ict]
B 3 0 3 0 3 7

49. ITA= |cos X sin . then A Is eqqual to
n X cos X
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{I}]cos x sin x | (2)]cos x—sinx {3)|cosx simx |(4) none of these
&in X oS X gin X cosX £in X c0s X

50, A card Is drawn at random from a pack of playving cards. The probability that it
Is red or an ace, Is ;
(ny L 2 L (3 11 4 4

13 51 b 13

51, 11 the sum of two unit vector Is also a unit vector then the magnltude of thelr

difference will be : =
(1 () 3 {3) {4) 2

L
3

51. The unit vector perpendicular to the vectors 6 + 2§ + 3k and 3 — 6] — 2k will be:
(1 2i-3;- 6k (2y 2i—-3j+6k 2t 3 =6k (4) 21 +3) +6k
) 7 il Fj

53, The area of the reglon bounded hythtmrvuf =dax.x=0andx=als

(1) 4w’ (2) Ima’” (3) 2ma’ (4} ma'

54. The arca of the reglon bounded by the curves }J =4ax, x=0andx=als:

2

P )2 (LS @)4d
3 3 3

(48]

5
3

55, cos' xdx Is equal to

(1) sin3x + 3sinx+C

4
{2} sin3dx + smx + C
3 2

{3) sinix +C
{4) sin3x + 3 smx +C

12 4
50. ITx = a (t+sin £) and ¥y = a{l — cos t) then dy_Is eqoal fo :
dx
(1)tant {2} tan 2t (3} cot(1'2) (4) tan(t2)

27, ifx =t and ¥ = 1t, then the normal at t =1 1s :
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{l}x+y-3=0 2)xt+ty—1=0
Bx+y+1=0 yx+y+3=0

58. f{1}=1r‘—912+ 12 x + 2% Is a monotonic decreasing function when :
(I} l=x<2 (2)x=] (3x=2 d)x<2

59, The helght of the cylinder of maximum volume that can be Inscribed In a sphere
of radius ris :
(H2¥3r (D 3 VT 4

2r
— ﬂ_—
Vi V3

o0, secx dx s equal to :

{1} logsmx+C

(2} log tan (x2) + C

{3)—log (sec x —tanx) + C

djlogtanm + _m~+C
)

6l. The differential coefflclent of sin-1 [ i—-x Wl xis:

1-F
i1 - 2 _ {2} 2 3 i {4} none of these
1 +x= I +x= I+

o2 d (set":luequnltn:

iy 1 2) ] (E]] 1 i4) |
V=1 xvx-Z | v [+x Xy l-x
03, The differential coefflclent of tan-1 | 1 — w.r.tols:
1+%
{1 {211 (3-1 (4} none of these
o4, lim fan2x—x  is equal to:
=1 3y _sinx
(1) O 2y 1 i3

L 4y 1
3 4
05, The differential coefficlent of sli:'t 1 w.r.l. -cmi'J N-xIs:

(1) - | 2y _1 3y _2 {4} none of these
yI+x vl -x° V=%

of, The sum of 20 terms of the serles 1 +4+ 7+ 10 +...05
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(1)290 12) 490 {3} 590 {4} none of these
67. Which terms of the sertes 1 , -1 . 1-2,....15-128:

F i
(1 10" (2) 8" (39" (412"

68 IT "Py: "Pz=1: 2, then n is equal to :
(12 (2) 4 (3) 5 (4)6

cos 3- 1 sin 38)" (cos 28+ 1 sin 288" Is equal to :
(cos @+ 1 sin @~ (cos 8 1 sin 8o

{1} cos 278 - 1 sin 278
{2) cos 338 - i sin 330
{3)cos 336+ 1 sin 338
{4)cos 278+ 1 sin 278

70. The value of cos h™ x Is :

(1 log (x-vx"=1) (2o (x £4x = 1)

3ylogix+vx = 1) MJnlng{x--J? + 1)

71. Find the equation of the stralght line which Is perpendicular to the line x_ - y =
I and passes through the polnt where the given st-line cuts the x-axis : a b
(ljax +by=n [2pax— b}_ﬂ (3} ax + by = v (4) bx —ay =ab

71 If the Upes x +v =1, 2x —v =0 and x + 2y + =0 are concurrent then §is equal
to;

(1 -2 (22 (3} -5 14
3 3 3

it |1

T3, Iftwo vertices of a triangle are (0.4), (2,0) and ts centroeld 1s (4, 6) then Its thelrd
vertex will be :
(1) {6.4) (2} {8.4) (3)14.8) (4} none of these

74. The radical axis of the circles 2x° + 2y —Tx=0and x’ + ¥y -4y - T=01s:

(I Ex-Ty+14=0 (2)Ix-8y+14=0

3 Tx—By—14=0 4)7x +8y+ 14=10

75, The equation of the polar Hoe w.r.t. the poele (1. - 2) to the arile 4+ 3"‘— I—oy+
S=00:

(lpx+ty-1=0 2ix+y+1=0 Ny=2 d)jx=

T6. The vertex of the parabola x2 —v+ox+ 10=01s:
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(13(3.1) (2h(3-1) (3h(3.-2) (4hi-3. 1)

TT. 01 (83 = tan 85, then the valueof (@ -T(g Is:
L+ (8T

(e - e (2)f0/¢ (Hf@-¢) (4f(B + o

T8.0m x'—3x+2  isequalto:
E g |
= oaix_3

(o 2y 2 (3 (4} ==

79. lim |,1'\I+ x-Vi— x] Is equal to :
frs | X

-1 i2)1 {32 (4) '

B0, The equation of the normal at a polnt of Intersection of line Ix + v = 3 and curve
:-"!I'I 4 }rI= Eis:

(D2x+y+3=0 (2)x—y:8=0 (3x-dy +3=0 (4) x+y+2=10

BLIfT(x)= x -3 , then [[f{f(x)}] Is equal to :
it 1

(-l 2) -x @ 1 4 x

X X

82, The modulesof 1+1 Is:

1-1
(2" "2 3y % (41
83. The value of ﬂw ﬂ Is
7 7
i g 2% 3;‘3-_ 3) 'J'_;_’u i {4} none of these

B4 1M + 4-1 Is equal to @
+1 i+21

(1) 10 + 24 i (2)10 - 24 i (324 - 10 i (4)24 + 10 i
13 13 13 13 13 13 13 13

85, Ifz=5+ 31 then the value of | z - 2] will be :
(1) NT% (HNT MW (H13
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86. The imaginary partof 1-1 Is :

1+1
(=i 21 31 ()i
BT, Mz =1+ 2Uand £=1- 1, then z,/2: Is equal to :
(1 -3i @B ~L+3 (3} 1 - 31 i4)none of these
2 2 2 2 z 2

88. The amplitude of 1 - V&8 Is:

3) 2m 4z
3 3

=

(1) -In 2) -
3

o

89, If mand Fare the roots of the equation v+ px +q =0 then the valoe of @ + Iﬂ =

0 will be :
(1) p'-3pq 2)—(p" +3pg) (3)p' +3pq (4)—p' +3pg
0. If and Pare the roots of the equation whose rootsare 1 . 1 Is:
@ B

(x*+x+1=0 @2x'-x+1=0 (Hx"-x=1 dx-x=1
9. 1z= (1+1)(2+1)  then|d 15 equal to :

I+
(1}-ta (2) ¥ (31 (-1

91, The slope of the tangent to the parabola }'! =4 ax polnt 1:!1. Zat) will be :
(1)-t - L (31 1A (4t

93, Ifa=1 2] and b =2+ & are the parallel vectors then Rfs equal to :
(-2 (2)2 (3)—-4 44

94. A stone Is thrown In silent water, the ripples are moving at the rate of 6 cmi/sec.
then the rate of change of the are when the radlus of the unite Is 10 cm. at the time
when radias of the cirele 1s 10 cm, then the rate at which its area increases s @

(1) 120 msec. {2} m e’ sec. (3} 120 em’fsec. (4} 120 7 consec.

95. A dlee is thrown then the probability that the sum of the number s 1 or 6 15 :
() 16 (2) 173 (3)23 (4)%

96, The value of cos h { md) s :
o 211 {3-1 (4} none of these

97. For Z1, Za & C the value of | Z, + 22 * +| Z) - 23] * witl be : ¢ pum
(1) 2 (4 + |Z45) 2V E =Ll (Y EF + & - )] - ] (4) 200 - [Z45)
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98. The real part of cos b (@ 1f) Is:
i1)sm hixcos B {2) cos ho cos f {3} —cos ho cos B (4) sin @ eos fi

99, If three vertices of a square are 31 1 +1 and 3 + 21 then its fourth vertex will be :

(Hi3d (23(24) (3) aigin 14;[|__1
2 7

00 lim x—b| Is equalto:
e T

i1 i2)b 50 {4} does not exist

ANSWER SHEET
LD 23 32 4@ 53) 6{3) 70 83 9@ 1038 113
1233 1341 14(3) 15420 16.03) 17.3) 1801 194 2043) 21{3) 22(4)
2302) 2443) 2542) 2643 272) 2844) 293) 3042) 3L(3) 3243) 3@
34(4) 35(2) I6D) 3T(3) IR 39(2) 40.3) 41(4) 422) 431D 40)
45(2) 46(2) 47.(2) 4843) 4942) 50(4)eS1(2) 32(3) 3344) 54.(3) S5.4)
S604) ST(1) SB(1) 5942) 60.3) _6L(NY 62(3) 63.(1) 64(4) 65.(3) 66.3)
67.01) 68.(4) 69.3) 7042) TL(l) T23) T3 TA3) T5(3) T6(4) T1.03)
TR3)  T9.42) 80.3) BL44) 8244 B33 H.(2) 85.(3 B86.(2) 8T(3) BE(2)
80.4) 90.1) 9L(3) 9243) 93.(3) 94(4) 95(3) 96.(3) 97(1) 98(2Z) 99.2)
100(4)
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